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1   Introduction 
This document is in response to R3-121043 “Full X2 proxy SCTP association issues, Alcatel-Lucent”, which clarifies the “issues” from the misunderstanding of X2-Proxy.

2   Discussion
2.1   When an SCTP Association between the HeNB-GW & an HeNB is established, i.e. what triggers this establishment?

This is related to Observation 1 of R3-121043. As clearly described in Figure 6.2.1.4.1: HeNB initiated TNL address discovery and X2 setup and Figure 6.2.1.4.1.2: eNB initiated TNL address discovery and X2 setup of TR37.803 ([1]), the setup of SCTP association is triggered by the TNL address discovery procedure, i.e. Step 8/9/18 in both figures. 

2.2   The concern for X2-Proxy using eNB Configuration Update procedure to notify an eNB, in case the HeNB-GW detects failure (or shutdown) of the SCTP association supporting the X2 connection towards an HeNB 
This is related to Observation 2 of R3-121043. The concern is using the eNB Configuration Update procedure requires new logic in eNB. This is a misunderstanding on X2-Proxy. There is no new logic required for the eNB. 
As stated multiple times in the TR and related contributions, the eNB considers the neighbouring HeNBs as the cells of the X2-Proxy. In case a neighbouring HeNB is unavailable, it is quite reasonable that the eNB receives the message from the X2-Proxy indicating that one of the X2-Proxy’s cell, i.e. the switched off HeNB, is unavailable. The SCTP with the X2-Proxy is used for all neighbouring HeNBs connected to the X2-Proxy. If using the proposed method as described in the question, i.e. explicit indication for the SCTP is unavailable, it will be a new logic to the eNB. 
In current X2-Proxy, the explicit indication for the SCTP is unavailable is only used when all neighbouring HeNBs are power off. 
2.3   Procedure for eNB to trigger the establishment of SCTP and X2 between the X2-Proxy and the said HeNB, after the eNB detects a restarted HeNB

This is related to Observation 3-7 of R3-121043. When the eNB detects a restarted HeNB, the eNB initiates the TNL address discovery procedure. After the TNL address discovery procedure, the X2-Proxy initiates the SCTP association (Step 8) and X2 Setup (Step 10) with the HeNB. The eNB only have one X2 with the X2-Proxy. The eNB does not re-initiate the X2-Setup if the eNB already have X2 setup with the X2-Proxy.
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Figure 1 – eNB1 detects the restarted HeNB2
Observation 4-7 from R3-121043 is based on a misunderstanding on how the X2-Proxy setup SCTP/X2 with the eNB. As described in above Figure, the X2-Proxy initiates the SCTP and X2 setup after the eNB (i.e. eNB1) initiated TNL address discovery procedure. One may argue that the eNB (i.e. eNB1) may choose not to initiate the X2 setup due to the NRT attribute is set to “No X2” for this HeNB (i.e. HeNB2), thus cause the SCTP/X2 is unnecessarily setup between the X2-Proxy and HeNB2. First, if the NRT attribute is set to “NO X2”, it is useless for the eNB1 initiated TNL address discovery procedure. It is questionable why eNB1 initiates the TNL address discovery procedure towards HeNB2 if the related NRT attribute is set to “NO X2”. Even if this does happen, it is a valid assumption that the NRT attribute in the HeNB2 is also set to “No X2” for eNB1. So when the X2-Proxy initiates the X2 setup request including the eNB1’s cell information, HeNB2 can reject the X2 Setup request. Thus there will be no SCTP/X2 between X2-Proxy and HeNB2. 
3   Conclusion and Proposals
It is proposed to consider the above comments when discussing R3-121043.

4   Reference

[1] 3GPP TR37.803, Mobility Enhancements for H(e)NB
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